1. Arithmetic Sequences: Use the following explicit formula to find the  following: y=-2x+2

a. How can you tell the above equation w:il form an arithmetic sequence? .
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2. Geometric Sequences: Use the followmg recursive formula to find the following: f(1) = 1, f{x} = f(x-1)x 4

a. How can you teli the above equation will form a geometric sequence?
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b. Explicit Formula: 'E(X} = 4
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4. Fill in the missing terms.

a. Arithmetic Sequence
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5. You come into school and tell your best friend a secret. You told her not to tell anyone but she couldn’t
keep it to herself, she told three other friends, but told them not to tell anyone. Well, each of those friends
decided they couldn’t keep it in and each told three other friends. This pattérn keeps forming.

What type of sequence is this? WWt Y\ C/
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Write an explicit formula: £(X) = .3

Write a recursive formula: ’( C/\B o '?( X ‘l\ 3 ?7 ) ’E(‘) = \

How many people will be told on day 6? (should you use recursive or xplicit for this?)
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Give the first 5 terms of the sequence (shoutd you use recursive or'explicit for this?)
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